
138

A A

L -35

H
-

35

L

H

L - 64

L - 30

P

H
-

30

P - 40
17

UTILE/USABLE
max. P - 20

20

20

Ø 9

H
-

40

L - 40

PIASTRA INTERNA A RICHIESTA
MOUNTING PLATE ON DEMAND

PROTEZIONE 
PROTECTION

IP66

CASSETTE INOX  STAINLESS STEEL BOXES
DVX

IMPATTO 
IMPACT

IK10

33

20



139

PIASTRINE DI FISSAGGIO INOX
Composto da: quattro piastrine di fissaggio INOX, 4 viti TE M6x16 INOX 
quattro dadi M6 INOX e quattro rondelle da 6x12x2.

MOUNTING BRACKETS MADE OF STAINLESS STEEL
The supply includes: four wall mounting brackets, four screws M6X16, four 
nuts M6 and four washers 6x12x2 (all made of stainless steel).

Articolo
Article

QX104

Composta da corpo, 
supporti per guida DIN
e coperchio.
Composed of cabinet structure, 
support for DIN profile 
and lid.

ACCESSORI A RICHIESTA
ACCESSORIES ON DEMAND

Dimensioni
Dimensions

Articolo
Article

Articolo
Article

H H L W P D

100 100 80 DVX811 -

100 220 80 DVX812 PZ812

150 200 80 DVX852 -

200 200 80 DVX822 PZ122

200 300 80 DVX823 PZ823

200 200 120 DVX122 PZ122

200 300 120 DVX123 PZ823

PIASTRA INTERNA
MOUNTING PLATE

NEW  
NEW  

Dimensioni
Dimensions

Articolo
Article

Articolo
Article

H H L W P D

100 100 80 DVX811F -

100 220 80 DVX812F PZ812

Composta da corpo, 
supporti per guida DIN
e coperchio forato.
Composed of cabinet structure, 
support for DIN profile 
and drilled lid.

ACCESSORI A RICHIESTA
ACCESSORIES ON DEMAND

PIASTRA INTERNA
MOUNTING PLATE

NEW  
NEW  

DV
X

IN
OX

ST
AI

NL
ES

S 
ST

EE
L




